Max Load: 125 Kgs

v F.M8xbpcs ’

g1 Le
® (5, M8xbpcs

<

>
% H. M8x4pcs 7

Pt

2 -
@ 1.M8x2pcs 7

I 77~450 mm

&J.?m
K. 2pcs ‘

g

\“ E.1 pc/each J

C. Ipc
S. 2pcs

L V. 4pcs Y. 2pcs Z. 2pcs
Mdx16 8 M6x20 6pcs % ® )
X pcs % X pcs M8x20 6pcs T. 3/8"x2pcs AL 8pcs

“~

N s 8pcs \

: M5x16 8pcs \ M6x40 6pcs N 1540 Gpcs o
M5x25 8pes M6x55 6pcs \ x5 Gcs |U- 3/8"X2pCs 6 1B MExi fpcs

M. Washers N. Spacers

X. 4pcs
@ Msxspcs @ 174 x6pcs @ 12pcs 'l D

V. 3/8"x1"x2pcs ® AC. M8x10x16pcs

B630B900—-01 1/2 2011/10/26




Lock
the
SCrews
, but
not to
fasten

N

622 mm

Option:fo

r
maximum height ‘
Q@/g

 ———

'l'////’

)
® © D <

Add spacers
1f necessary

.
- /

H

~.Fasten the
SCrews

o
8630B9 1.2/2 201™10/26

d Adjust torque..

| necessary

|
v q
D \ \
o U
| ; \
%9 1R I/
X| ¥ M |
\ / // ®
; 0
\
|

\ ¥, =~ A ! \
D) \
0 L g 0,
/ i
o \
o o] |

R BT\ @
J1f o\

_<:>

height. .. if
necessary




